IB Math HL1 Name Lo  of
Vectors Exit Slip Period Date ¥
No Calculator

1. Given Zl=;‘4] and } =3l+2]

a) Find a+2b b) Find b—a

: 24 +6,
l-l\3,+z(s;+:.:,)=@ <3A*'3~J (/‘ q[j) ("‘ ]

c) Illustrate the resultant vectors of a+2b and b—2a on the gird paper below.
1) a+2b 2) b-2a
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2. Given a—l 5]+wk19-pespend-|eahrtob l+2] 3k a+2b=| -1/, what is the value of w?
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~sl+ 22 |=
(u) -3 * =8 ).

3. Consider the prism shown
a. Find the vectors FT s and HB'

Fh =24 -6 3K
kb = Ty
2HB‘ = Q1 eéiedr < Z-J 1y

b. Find {

N
c. Find the vector in direction of J'4 with magnitude of 3
units.




Using the diagram on right:

3. Write BD in terms of y and z.
go= - @

4. Write BF
a) in terms of x, k, and w.

b) interms of y, z, and w.
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BE = -2 - iU




